
qm=;+= ;+:yfut ljsf; tyf ;]jf k|jfx k|:tfljt /sd s}lkmot gkf

   1  Goflos ;ldlt              500,000.00 
 s=  vfhf, lrof, ;Tsf/ /sd ?= 1,00,000.00 
 v  hgr]tgfd'ns sfo{qmd ?= 1,00,000.00 
 u  sfo{;Dkfbg ?= 1,00,000.00 
 #  Goflos sfo{qmd ?= 2,00,000.00 

             500,000.00 
1 jfnjflnsfx?nfO{ b'jo{;DjgGwL r]tgfd'ns sfo{qmd 30,000.00             
2 lgn sdn ckf+u;/f]sf/ s]Gb|nfO{ kmlg{r/ 30,000.00             

3 kbflwsf/L tyf sd{rf/Lx?df Ifdtf ljsf; clej[l$ tyf cjnf]sg 
e||d)f 100,000.00            

4 ;]jf k|jfx tyf ;'zf;g 50,000.00              
5 dlxnf :jo+;]jLsfnfO{ Ifdtf ljsf; cjnf]sg 54,000.00             
6 ;j{hlgs zf}rfno -hfgsLgu/ ahf/_ 50,000.00              

hDdf 314,000.00            
1 kbflwsf/Lx?sf] Ifdtf clej[l$ 100,000.00            hu]*f sf]if

2 ;]jf k|jfx tyf ;'zf;g 50,000.00              
hDdf 150,000.00            

1 kbflwsf/L tyf sd{rf/Lx?df Ifdtf ljsf; sfo{qmd 50,000.00              
hDdf 50,000.00              

1 kbflwsf/L tyf sd{rf/Lx?sf] Ifdtf ljsf; tyf e|d)f  cjnf]sg 
sfo{ 100,000.00            hu]*f sf]if

2 sfof{no Aoj:yfkg ;'rgf k|ljlw k+lhs/)f tyf d]]lzg/L g]^  h*fg 
vl/b sfo{ 100,000.00            
hDdf 200,000.00            

1 ;]jf k|jfx tyf ;'zf;g 50,000.00              
2 kbflwfsf/L tyf sd{rf/Lsf] Ifdtf clej[l$ 50,000.00              

hDdf 100,000.00            
1 ;]jf k|jfx tyf ;'zf;g 50,000.00              
2 kbflwsf/L ty sd{rf/Lx?sf] Ifdtf j[l$ 200,000.00            

hDdf 250,000.00            
1 kbflwsf/L Ifdtf ljsf; 20,000.00             

hDdf 20,000.00             
1 kbflwf/Lx?sf] Ifdtf clej[l$ 200,000.00            hu]*f sf]if

2 ;]jf k|jfx tyf ;'zf;g 50,000.00              hu]*f sf]if

hDdf 250,000.00            
;Dk')f{ hDdf 1,834,000.00          

xl/k'/ gu/kflnsf
kbflwsf/L Ifdtf, sd{rf/L Ifdtf, ;'rgf k|ljlw, k+hLs/)f Aoj:yfkg, ;]jf k|jfx tyf ;'zf;g Aoj:yfkg tyf cGo 
sfo{qmdx?

j*f g+= 3

j*f g+= 7

j*f g+= 1

j*f g+= 4

j*f g+= 5

j*f g+= 6

gu/ :tl/o

j*f g+= 2


